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(a) "Collective bargaining is an essential instrument (
to maintain cordial relations between the
management and the worker,,. Critically analyze
the statement by highlighting its merits and
demerits. e)

(b) 'Importance of collective bargaining cannot be
denied by any stakeholder.' Critically analyze the
statement from the viewpoint of each stakeholder.

(8)

OR

(a) Explain the Conflict-choice Model of Negotiation.

(7)
(b) Problems and issues in collective bargaining are

both structural and attitudinal. Do you agree?
Explain and elucidate. (g)

(or) "w1Bo rl+qrft e-drm iir qTflTrt + A-c @,t
1,otr firq <+ + ftS Vm' BIF1q{FE qrsT *,,r Efi+

{Er-a+ qr yt {r vat gV 6'sr{ tfi-r (qT-d}-{i.ffis.

trsiqor dfrq r

(sr) frfu< y-*n * rlM + (H m fren t qrcqr

fr&s r

(e) ar$-6 dffi q rriqq er-isqrt.r fr erelnr"n Bit

yBqr * qrqr dBq?

Write a Short Note on any three of the following:
(3x5)

(a) Importance of collective bargaining for the
business

(b) Bargaining in 'Good Faith,

(c) Subject matter in collective bargaining

(d) Binding up of the wounds

(e) Fractional Bargaining (ls)
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4 (a) Explain different types of third -party interventions

in collective bargaining. What are the different

tactics used in negotiation process? (7)

(d) '<r-qtr+' Rlffi + rrrd * ffi tt E*mm arq

Bid-fiR ;rfi G;-qr qr s+.tr ;,' YQa GauR-6 +

gRdtr t qq;t 261 3rA-q-{rtr6 ffiqur frfuql

(or) tlM + 6Fm-+"-rfs{ 6-ss fr qrq frfrq t

(E) <qB6 fur:tq-qqr sk 1fr {r+ilffi+. ertt q-+anqc6

*ir- * rqr BIFI (6qir * i qnqr *frq 3fu rrrsr<'r t

(a) Collective bargaining take place at different levels

in India and so is the agreements at five different

levels. Explain these levels of collective bargaining'

(7)

(b) Explain the grievance procedure to be followed

when disagreements occur between union and

management. (8)

OR

(a) What can one side do if the other side refuses to

negotiate or appears not to be negotiating in good

faith? Q)

(b) What are the different Phases

process? ExPlain in detail.

of bargaining

(8)

(
OR

(a) Explain different types of bargaining approaches

in detail. (7)

qI

(b) Explain the concept and process

ratification in collective bargaining?

of contract

(8)
2
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(b) What happens if, during negotiations, an employer

and a trade union cannot agree on the terms to be
included in a collective agreement? (g)

(er) qrra n frn-q*t R {T{F6 Rlier$ aff A srt rfr
il(6 crs 3rd.r_3ftrrr wt qt qq-** *t i r (r$-o
R]ffi + r< Rt fr qnqr dfrq r

(q) {Bq-{ Blh rqtn + +q ir€rqfr *t q< fr.q fte'md
yB"T q] Biq;nqT ErdT *, qroqr frfrq r

.n

(b) What is Negotiation in collective bargaining? What
are its advantages and disadvantages? (g)

OR

(a) Explain the simple model and dual concern model
of Negotiation. e)

(b) What do you understand by the bargaining teams
in collective bargaining? Explain its powers.

(8)

(er) "ffitu vlmm,, lrq q] cRrR-d dfrq? E+ *+ Er
fr-qrwt-+<r*i

(c) RTTF*. a1M + qrd-+d wr *& B ? grt wr tnrql

ult 6<r< f ?

(et) <raffa * vca fco Bih m fraT fsa aft qnqr
*frs I

(s) Rrs-+' rlffi +- dffi m-t+ Ere A+ t snc wr
{TEr+ * ? ER-+1 nkAi fr qrqr dfrs r

(sr) qtr Em rrer qm+d q+ t rq6n q-ctr * qr v+irq
+ qm+r qff ql<r 9-&-{ +f,r $ i crf,r qEr F q-{

R?fi-f,I * ?

(e) <r-cft * <hr+, ro A*<r srh r*, ts $cq sqF6
RqEi+ + rrrR-m fr uA qre rrff qr t-aqr +& d} (

idwr+ff+?

(a) Define the term ..Impasse resolution',? How to
resolve the same? (7)
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